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2A =X
Hu: WHE CAIDH
SR SAIHEAIE Z2(ZEAMII0ITHEAHEANEUHRNSELSESIH) EERED
SA - ZB . O9I(B) - NRAR - BaS Ofl ko o HlmE2
=Xt 10,365,190 545,407 9,819,783
= 365,190
Al 10,000,000
WS TAISH 9,843,490 9,843,490
CAIHEAIE 22 (LEAEIIDIEHCAIHEA KIS 9,843,490 9,843,490
SASHESIH)
ZOI0IEYE SAISE 24 9,843,490 9,843,490
401 Al HIZLSCHY| 9,843,490 9,843,490
01 Al&HI 9,843,490 9,843,490
OO0 TAISH B4
9,843,490,000& 14 9,843,490
WLesS(=X) 521,700 545,407 A23,707
s 365,190
Al 156,510
HEXE(LASAIEIN0IEHZAIHEAIEUHXSEAS L 521,700 545,407 AN23,707
oH)
s 365,190
Al 156,510
ez AE 521,700 545,407 N23,707
s 365,190
Al 156,510
311 XL S0IRHatet 521,700 545,407 ~23,707
= 365,190
Al 156,510
03 SLEEXUZO0| Atk 521,700 545,407 AN23,707
OXte = Ol RHatE 521,700,000& * 14! 521,700
s 365,190
Al 156,510
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z - SIE]
SA - B - SI(SA) - KISA - Ol bt e imE==
S22 9,050,000 6,850,000 2,200,000
T2USY 9,050,000 6,850,000 2,200,000
SAHEANE 2 (LSAIEI0IZBEZAIHEANEUXSE 9,050,000 6,850,000 2,200,000
A=w5))
ZII0IEYE TAIHEEZ 24 9,050,000 6,850,000 2,200,000
401 AIEHIZL S OHLI 9,050,000 6,850,000 2,200,000
01 AlEHI 9,000,000 6,800,000 2,200,000
OFII0IEH TAHEETZ B4
9,000,000,000& 14 9,000,000
03 AIE =2 CHHI 50,000 50,000 0
OFII0IEY ZAIHEEZ 24 20
50,000,000 14! 50,000






